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Question Number : 1 Question Id : 50521225257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which stage of development is characterized by lot of harmonal changes and an active search for identity?

Options :

1. Adolescence

2. Infancy

3. Early childhood

4. Middle childhood

Question Number : 1 Question Id : 50521225257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521225258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): Language development takes place only during infancy and hence adequate stimulation should be given only till infancy.

Reason (R): Negative environment during early years do not have any long term consequences.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 2 Question Id : 50521225258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521225259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following statements about development are correct?

(i) There are individual differences in the rate of development
(i1) Cognitive development is determined solely by genetics.
(iii) Development follows a predictable pattern.

(iv) All domains of development are inter-related
Options :

1. (1) (ii) (iii)

2. (1) (i) (iv)

3. (i) (iii) (iv)



4. (i) (if) (iii) (iv)

Question Number : 3 Question Id : 50521225259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521225260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mathematical questions involving algebraic experience and concerned with hypothetical situations are a part of elementary curriculum.
This is based on the idea that adolescents are capable of performing / doing -

Options :

1. abstract thinking.

2. manipulative operations with concretes materials.
3. seriation tasks.

4. classification tasks.

Question Number : 4 Question Id : 50521225260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521225261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
According to Jean Piaget, which of the following are the four factors that influence development?



Options :

1. maturation, activity, social experience, equilibration

2. language, culture, social interactions, peers

3. positive and negative reinforcement; presentation and removal punishment
4. observation, attention, retention, memory

Question Number : 5 Question Id : 50521225261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521225262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Significant difference in Lev Vygotsky's and Jean Piaget's theory is about -

Options :

1. the constructive / objective role of children in the process of meaning- making.

2. understanding children as active / passive begins.

3. the relationship between language and thought.

4. understanding that learning is a simple/ complex process.

Question Number : 6 Question Id : 50521225262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521225263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky believed that-

Options :

1. The main goal of education is filling students' memories with facts.

2. children learn primary by acting alone and discovering cognitive concepts.



3. learning is constructive as well as a collaborative process.
4. learning takes place primarily when children associate stimulus with a response.

Question Number : 7 Question Id : 50521225263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521225264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lawhrence Kohlberg -

Options :

1. did not refer to Piaget's theory of moral development.

2. proposed six stages of moral development organised into two general levels.

3. conducted research on children by presenting them with a hypothetical situation - 'Heinz dilemma.'

4. argues that morality in girls and boys progresses differently in the course of their cognitive development.

Question Number : 8 Question Id : 50521225264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521225265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In a progressive classroom a teacher would -

(i) always keep the class by being didactic
(i1) give importance to learner's previous knowledge and experience
(iii) focus solely on extrinsic motivation

(iv) encourage learners to think critically



Options :
1. (iii) (iv)
2. (ii) (iv)
3. (i) (iii)
4. (1) (iv)

Question Number : 9 Question Id : 50521225265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521225266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assessment should be reported in such a manner that -

Options :

1. it reflects what the student cannot do

2. it specifies the student's performance in comparison to the others

3. it details what and how the student has been learning

4. it describe the student with appropriate labels such as slow learner, intelligent etc.

Question Number : 10 Question Id : 50521225266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521225267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What should the holistic 360 degree multidimensional progress card proposed in the National education Policy 2020 reflect?
Options :

1. Comparison of the student performance with the marks across the state.

2. Progress of the learners in the cognitive, affective and psychomotor domains.

3. correct identification and labelling of the student in an eight point grade scale as per her cognitive capabilities.

4. Problem areas in the students' comprehension that the parents need to work upon.

Question Number : 11 Question Id : 50521225267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521225268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Textbook depiction of women with feminine traits such as 'nurturing', 'caring' and emotional are an example of -

Options :

1. portrayal of innate abilities of women

2. gender bias

3. gender equality

4. gender equity

Question Number : 12 Question Id : 50521225268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521225269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Critical thinking among students can be assessed by :

Options :

1. testing their recall abilities



2. analysing their interpretation skills
3. measuring their speed of copying
4. calculating their accuracy of spellings

Question Number : 13 Question Id : 50521225269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521225270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, which of the following factor does not influence learning?

Options :

1. Stimulus - Response association

2. Scaffolding

3. Language

4. Social interaction

Question Number : 14 Question Id : 50521225270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521225271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the light of contemporary theories of intelligence such as that of Howard Gardner, which of the following statements is NOTcorrect?
Options :

1. Intelligence can be accurately predicted by administering standardized tests.

2. Intelligence comprises of several independent intelligences.

3. Intelligence is a complex interplay of heredity and environmental factors.

4. Intelligence can be nurtured by providing appropriate stimulating environment.

Question Number : 15 Question Id : 50521225271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521225272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How should a teacher support first - generation school goers who come from marginalized communities?

Options :

1. Ask them to seek private tuitions after school.

2. Encourage them to participate in classroom activities by providing appropriate scaffolding.

3. Give them a lot of complex worksheets as homework.

4. Induce fear of failure in them to make them work hard.

Question Number : 16 Question Id : 50521225272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521225273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The purpose of inclusive education is

Options :

1. isolation of learners with special needs

2. special education of learners with special needs

3. to bring the students with special needs up to the grade level of students without special needs

4. to ensure that all learners have a right to get education in a regular school system

Question Number : 17 Question Id : 50521225273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 50521225274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does inclusive education entail?

Options :

1. Flexibility in the curriculum as a result of recognition of individual differences

2. Segregation of students on the basis of their abilities

3. Standard curriculum for all learners

4. Provisioning of only vocational education to learners with special needs

Question Number : 18 Question Id : 50521225274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521225275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the identifying characteristics of learners with Dyslexia?

Options :

1. Struggle with word recognition , decoding and spelling

2. Inattention, hyperactivity and impulsivity

3. Originality, fluency, flexibility

4. Difficulty in muscle control, movement and coordination

Question Number : 19 Question Id : 50521225275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521225276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following traits is not an identifying characteristic of children who are gifted?

Options :

1. Persistent mastery - oriented behaviour

2. Highly superior social skills and maturity as compared to their peers

3. Independent problem solving

4. Intellectual curiosity

Question Number : 20 Question Id : 50521225276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521225277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During discussion on plants, a teacher noticed that several students have misconceptions related to this concept. In this context the teacher
should -

Options :

1. help students identify their misconceptions and reconstruct their understanding

2. punish students for carrying such misconceptions and leave the topic at this moment

3. point out the misconceptions straight forwardly and give correct information to rote memorize
4. label them as 'intellectually inferior' and recommend them for special education

Question Number : 21 Question Id : 50521225277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521225278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): To develop critical thinking in learners, a teacher brings several newspapers mentioning the 'same news' and encourage
students to discuss it in groups.

Reason (R): Textbook can be the only source of knowledge in a middle grades.

choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true and (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 22 Question Id : 50521225278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521225279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A middle school teacher -

Options :

1. Should point out the error to the learner to show what a failure she is.

2. Tell about the error the learner has made to the entire class to humiliate her.

3. Give learners opportunities to identify their own errors and work upon them.

4. Shame the learners so that they don't make any errors in future.

Question Number : 23 Question Id : 50521225279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521225280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Should competition be used as a motivator to enhance learning?

Options :

1. Yes, it helps to compare performance with peers.

2. No, it creates a negative ethos in classroom through unnecessary social comparisons based on ability.

3. Yes, it motivates students to do better than others.

4. No, it can only be used for students with special needs.

Question Number : 24 Question Id : 50521225280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521225281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following requires metacognitive capacities?

Options :

1. describing steps of an experiment.

2. reflecting on one's own strategies of solving a problem.

3. repeating the prescribed procedure of a mathematical operation.

4. recalling textbook definitions of phenomenon.

Question Number : 25 Question Id : 50521225281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521225282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teachers must build students capacities for problem-solving by -

Options :

1. discouraging questioning

2. prohibiting use of analogies

3. focusing on providing all the solutions to avoid challenges

4. promoting articulation of the students' problem solving methods.

Question Number : 26 Question Id : 50521225282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521225283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a classroom built on socio-constructive framework -

Options :

1. Children listen passively while the teachers teaches

2. Material is meant only for display

3. Seating arrangement changes according to the activity.

4. Assessment is undertaken as a separate activity from learning.

Question Number : 27 Question Id : 50521225283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521225284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following factors would enhance meaningful learning and encourage learners to take challenging tasks?

Options :

1. Teacher's positive beliefs in the ability of learners

2. Highly competitive classroom ethos with focus on individual achievement

3. An environment that focus on shame and fear to increase performance

4. offer materialistic rewards at each step in problem solving

Question Number : 28 Question Id : 50521225284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521225285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which emotion would discourage students from learning?

Options :

1. Pride

2. Joy

3. Hope

4. Boredom

Question Number : 29 Question Id : 50521225285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521225286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If students are not taking interests is your teaching , then you will -

Options :

1. Ignore them and continue teaching

2. Leave the class and complain to their parents

3. Punish them for not paying attention

4. Reflect upon your teaching methods and will try alternative methods.

Question Number : 30 Question Id : 50521225286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 50521225287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the situation representing an improper fraction:
Options :

1 Dividing five cakes equally among 7 members.

5 Sum of any two unit fractions.

3 Dividing 7 cakes equally among 5 members.

4 Dividing a rectangle by drawing 7 equally spaced horizontal lines and colouring 3 stripes among them.



Question Number : 31 Question Id : 50521225287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 50521225288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following need not be true?
Options :
1. 0 is the only integer which is its own additive inverse.

2.
To add two integers of opposite signs, we have to find the difference of their numerical values and assign sign of the
integer with larger numerical value.

3.
To subtract two integers, we have to find the difference of their numerical values, and assign the sign of the integer
with larger numerical value.

4 Everyinteger has a successor and a predecessor.

Question Number : 32 Question Id : 50521225288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 50521225289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

P L
7 - - LS
Options :

9
. E less than 1

5
) E less than 1

S than1
N lémore an

9
. E more than 1

Question Number : 33 Question Id : 50521225289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 50521225290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following products gives a natural number?
Options :

3 x =
L (15



1 =1
, DX ()

Question Number : 34 Question Id : 50521225290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

()
F %L
1. 15

Question Number : 35 Question Id : 50521225291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The mixed fraction corresponding to 5.035 is

Options :
7
5_
1. 100
24
5_
, 200
7
5_
5 200
21
4 200

Question Number : 35 Question Id : 50521225291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

5.035 % e Totae e &
Options :
7

J
.~ 100



3 7200
21
g

4 200

Question Number : 36 Question Id : 50521225292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In triangle ABC, AB = AC and side AB has been produced to a point D such that £ CBD = 150°. Then,
£ BAC is equal to

Options :

1. 30°

2. 60 °
3. 90 *

4 120°

Question Number : 36 Question Id : 50521225292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

s ABC &, AB=AC 2 7T 5T AB %I D 7% 38 TR 95191 T1 2 6 £ CBD = 150° 3| 9, £ BAC TR
L

Options :
1. 30°

2. 60°
3. 90°

4 120°

Question Number : 37 Question Id : 50521225293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If D is a point on side BC of a triangle ABC such that AD L BC and BD= DC. Then,

Options :

1 A ABD = A ACD (By RHS)

, AABD = A DAC (By RHS)

;. AABD = A ACD (By SAS)

,. AABD = A DAC (By SAS)

Question Number : 37 Question Id : 50521225293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
fapett Bt ABC #it =T BC W D w3 faig 39 o 2 5 AD L BC 31 BD=DC 2| 7,

Options :
. AABD = A ACD (RHS )

N A ABD = A DAC (RHS F1)
; A ABD = A ACD (SAS )

. A ABD = A DAC (SAS )

Question Number : 38 Question Id : 50521225294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Simi draws lines |, m and n on a sheet of paper such that

i) lis perpendicular to m and
i) n is perpendicular to m.
Then,
Options :

1. land n are parallel.
5 land nare perpendicular to each other.
3 I, m, and n will always intersect at a single point.

4 Any line parallel to m will be parallel to n.

Question Number : 38 Question Id : 50521225294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 50521225295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
The maximum number of lines of symmetry possible for any triangle is
Options :

4. More than 6

Question Number : 39 Question Id : 50521225295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tt +ft gt % fom, wfere wamett 7 whafas st e &
Options :
11

2. 3

Question Number : 40 Question Id : 50521225296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Baburaj draws two line segments AB and PQ on a sheet of paper. If the two line segments do NOT meet each other
even if they are extended to both sides, then AB and PQ are parts of two:

Options :

1. Perpendicular lines

5 Parallel lines

3 Lines intersecting at an angle of 60 3

4 Lines intersecting at an angle of 45°

Question Number : 40 Question Id : 50521225296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 50521225297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ratio of length to breadth of a rectangular field is 10 : 3. The cost of putting fence around it at 12 per metre is X
6240.

The area (in m?) of the field is:
Options :

1. 3000

> 6000

3. 9000

4. 12000

Question Number : 41 Question Id : 50521225297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toreft SATIaTSRT @A T TS ST =ErS § ST 10:3 21 WA % =1 A ¥ 12 Wi Hiew o 3 | &7 o A v
36240 B T T &% (m” H) &

Options :

L 3000

, 6000

3 9000

4 12000

Question Number : 42 Question Id : 50521225298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

let Sand S’ be two cylinders having same height. If the diameter of S is two times that of §’, then the curved surface
areaofSis
Options :
1. twice that of §'
5> one-fourth that of S’

3 half that of §'

4 4timesthatof§’

Question Number : 42 Question Id : 50521225298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 50521225299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Shobin has two right angled triangles each having area 6cm? and hypotenuse 5cm (lengths of sides in whole numbers).
He arranges them in such a way that their hypotenuses coincides and the resulting figure is a rectangle. Then, the
perimeter of the rectangle is

Options :
1. 18cm

7. 16cm
3. 14cm

4. 12cm

Question Number : 43 Question Id : 50521225299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 18 em

2 l6cm
3 14 cm

4. 12 cm

Question Number : 44 Question Id : 50521225300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Two dices are thrown and the turned up numbers are added. If one knows that the numbers turned up are different,
what is the probability that the sum is 127

Options :



Question Number : 44 Question Id : 50521225300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 0

Question Number : 45 Question Id : 50521225301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the data given below:
9,7,31,26,57,48,20,5,7

On checking, it was found that an observation 48 was incorrect and was replaced by 84. Then the value(s) of
would remain the same.

Options :
1. Range only

, Mode only
3. Median only

4. Mode and median

Question Number : 45 Question Id : 50521225301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 50521225302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
3y+8 5

2

If 2 (y +5)= —3 (2 — y), then what is the value of

Options :
1. 10

, ‘19
3 13
4. 28

Question Number : 46 Question Id : 50521225302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

- 3y+8 3
> = FTOE T2

ab

AT2 (y+5)=-3(2-y)

Options :
1. 10

, 123

Question Number : 47 Question Id : 50521225303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If x—y =5 and x2 + y2 = 53, x and y are positive, then what is the value of (x2 — \,r‘z}?

Options :

1. 35



7. 45

4. 65

Question Number : 47 Question Id : 50521225303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
] 2 E s | X 3
FEy—y=5FAT 2 +y* =53 BAATx AN y “AFHF &, A x2— y~ o I FTE?
Options :
1. 35

Question Number : 48 Question Id : 50521225304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If (2y — 3% + 22) (2y — 3x — 2z) = 4y2 + Axy + 9x2 — 4z% then what is the value of A?
Options :
1. 6

Question Number : 48 Question Id : 50521225304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ﬂ%(ly —3x+2z)(2y—-3x—-2z)= 4}*2 + Axy + ox% — 47 z, 9 A FAF FTE?
Options :
1. 6

Question Number : 49 Question Id : 50521225305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A shopkeeper purchased 100 bulbs for £10.00 each. He decided to sell it for a price such that he will be getting 25%
profit, if all the bulbs are sold. But he observed that 10 bulbs were damaged and he could not sell them.
If he sold all the remaining bulbs at a rate of £ 14.00 each, then he

Options :

1. 8ot X10.00 more than expected

, got only $10.00 as profit
3 8ot X10.00 less than expected

4. suffered a loss of %10.00

Question Number : 49 Question Id : 50521225305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 50521225306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

X(Z—x—-y)+y(z—y—x)—z(x+y+2)isequalto
OptiOIlS'
1. X —2xv—z +V

o A==y
3 —x2 — 22Xy — 72 —y

4 X2+ 2xy + 22 +y2

Question Number : 50 Question Id : 50521225306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

x(z-x—-y)+y(z-y—x)—z(x+y+2z) ELEIE S
Options :
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Question Number : 51 Question Id : 50521225307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher asked the students to find out the different ways by which Ramanujan number can be expressed as the sum
of two cube numbers. This task reflects the teachers’ effort to :

Options :

| relate real —life experiences with mathematical concepts

5 introduce the concept of cubes and the cube roots
3 teach about Ramanujan

4 foster creative thinking among students

Question Number : 51 Question Id : 50521225307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T e J TRt o TS ST 1 31 S WAl 3 AN F B H S A 3 [0 ST a1t w1 e
% 10 1| 72 = o1erek o T o ST E —
Options :

1 AT STa 3 A i T SO H T
, = ST ST T STV T G ST
X TEIES o &1 5 TG

, Tt = e e e

Question Number : 52 Question Id : 50521225308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Compare the following problems
{A)if 3 US collars is equal to 180 Indian rupees then how many Indian rupees are equal to 21 U5 Dollars?
{B) Zoya and Rajni are running equally fast on a circular track. Zoya started first and when she had run 9 laps, at that
time Rajni had run 3 laps. By the time Rajni had run 15 laps, how many laps had Zoya completed?

Which of the following statement is true?
Options :



1 Both A and B will require the understanding of proportions to solve.

Ais a problem based on proportions, B will require the knowledge of addition and subtraction.

»

B is problem based on proportions, A will require the knowledge of addition and subtraction.

had

Both A and B are not a problem related to proportional understanding.

>

Question Number : 52 Question Id : 50521225308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 50521225309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is / are the attributes of mathematically gifted students?
{(a) Able to spot the patterns and make connections between mathematical concepts
{b) Shows ability to analyse, reason and make generalisations.
{c) Solve all textbook exercises using formal algorithms
(d) Enjoys solving mathematical problems and puzzles.
Options :
1. (@), (b)and (c)

, (b), c) and (d)
3. only (d)

4. (a), (b) and (d)

Question Number : 53 Question Id : 50521225309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521225310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which among the following is/are features of Summative Assessment
(a) Evaluates the student’s learning at the end of an instructional unit.
(b) Students receive a grade in terms of percentage or any other form to indicate their level of performance.
{c) Can be used during the learning process in order to modify teaching and learning activities
Choose the correct option
Options :
1. (@) and (b)

~(a)and (c)

NS

(b)and (c)

hed

~(a), (b) and (c)

S

Question Number : 54 Question Id : 50521225310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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5. (@), (b) 3 (c)

Question Number : 55 Question Id : 50521225311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching the topic of Data Handling, Mr Jaswant, the class 7 teacher has given a survey based project titled
“Market Places and mathematics”. Which of the following describes the most appropriate aim of this project?
Options :

1 Develop language comprehension skills in learners.

, To help students memorise the mathematical formulae of mean, median and mode.
3 To complete a task mentioned in the mathematics syllabus.

4 To connect mathematics to daily life of students and give an exposure to data collection.

Question Number : 55 Question Id : 50521225311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 50521225312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Procedural knowledge of mathematics is built by understanding and applying algorithms, but flexibility in doing
mathematics is related to :

Options :

1. ability to solve problems in algebraic ways

5 ability to solve problems using a formula

3 ability to solve variety of text book guestions

4 ability to solve a problem in more than one way



Question Number : 56 Question Id : 50521225312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 50521225313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A lesson plan on unit of ‘mensuration’ includes the following specific objective,
“Learners will be able to understand the application of mathematics”

This specific objective is
Options :

1. Inappropriate, as the objective is vague and not well defined

5 Appropriate, as it reflects the aim of all the units of mathematics syllabus.
3 Appropriate, as unit of mensuration has a lot of application in day-to-day life.

4 Inappropriate, as there is no scope of application in this topic

Question Number : 57 Question Id : 50521225313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST (HreT) $9TE o 2R At 3 ety fafere sevw wfefem
Teremeff TTIOT % AT RS § /W S
Tz fafse =amg —

Options :
| ST B, T v S S i & aftie T 2
) TUTF &, TR T TOT B W FTEAT ok 92 T F £
e &, it it o 3o o TR e e tfore w2 3

3

, ST, FF T THT ST B HE T T B

Question Number : 58 Question Id : 50521225314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A teacher tosses a fair coin 20 times and it results into 8 heads and 12 tails. Which of the following responses given by
students is correct with respect to the above situation?
Options :

1 The coin is biased as the probability of the both heads and tails should be the same.

5 The tossing was faulty as the probability should have been equal.

3 The probability of tail is always greater than the probability of head in a fair coin.

4.
Probability of head or a tail as % does not imply that there must be exactly 50% heads or tails on repeated toss of a fair
coin.

Question Number : 58 Question Id : 50521225314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521225315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher found that an 11 year old class VI student could classify various types of quadrilaterals in different categories

but had difficulty in understanding the proof “Sum of interior angles of a quadrilateral is 360 °”. According to Jean
Piaget's Cognitive Theory, this student is in which stage?

Options :

1. Concrete operational stage

, Formal operational stage

3. Sensori-motor stage

4 Pre-operational stage

Question Number : 59 Question Id : 50521225315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 50521225316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After the completion of unit on algebra, a teacher decides to develop a rubric for assessing the learners on problem
solving and reasoning skills. Which of the following rubric statements are most appropriate to be included in the
rubric?

(a) Understands the problem before solving it.

(b) Checks the answers from answer key and develops strategies accordingly.

(c) Constructs logical progression of mathematical statements.

(d) Explains ideas only in writing using words, pictures and numbers.
Choose the correct options:

Options :
1. Only (d)

7 (b) and (c)
3 (a)and (c)

4 (b)and (d)

Question Number : 60 Question Id : 50521225316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 50521225317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A farmer finds that legume seeds which he had stored for sowing next season have been attacked by insects. Which of
the following methods would you suggest to him to separate healthy seeds and infected seeds?

Options :
1. Handpicking

7 Sieving
3 Putting in water

4 Threshing

Question Number : 61 Question Id : 50521225317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 50521225318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct about bacteria?
Options :

| Bacteria present in herbivores help in breakdown of cellulose.
5 Bacteria are used in preparation of antibiotics

3 Bacteria is used in preparation of breads and cakes

4 Bacteria breaks down organic matter in biogas plant.



Question Number : 62 Question Id : 50521225318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521225319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Vinegar is used as a preservative in many food items because it
Options :
1. cuts off air cantact with environment so that bacteria cannot enter in food

5 provides acidic environment so that bacteria cannot live
3 reduces moisture content to inhibit growth of bacteria

4. contains chemicals to kill bacteria.

Question Number : 63 Question Id : 50521225319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521225320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In which of the following situations, water cannot be used to extinguish the fire?
a) burning of wood
b) burning of diesel
c) burning of paper
d) short-circuit of electrical appliance
Options :
1. aandb

7 bandc
3 aandc

4 bandd

Question Number : 64 Question Id : 50521225320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521225321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Properties of four fuel are given below

Fuel Calorific value (J/kg) State Ignition Temp
A 17 solid High
B 45 liquid moderate
C 150 gas low
D 20 liguid moderate

Which of the following is best option as a fuel for domestic purpose?
Options :
1. A



Question Number : 65 Question Id : 50521225321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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A

2. B
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4. D

Question Number : 66 Question Id : 50521225322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT true?
Options :
1. Sail erosion causes desertification.

7 Deforestation lowers the ground water level.
3 Overgrazing causes deforestation.

4. Loss of biodiversity causes deforestation.

Question Number : 66 Question Id : 50521225322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 50521225323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following statements isfare true?
A- Endangered species are in the danger of extinction
B- All endemic species become endangered
C- Endemic spices may come under the threat of extinction on introduction of new species in that region
D- Hotspots have numerous endemic species
Options :
L ABC

, B,CD
; ABD

4 B

Question Number : 67 Question Id : 50521225323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521225324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following sets is unicellular?
Options :
|, €gg, sperm.

, ©egg, zygote.



3 sperm, embryo.

4 Zygote, embryo.

Question Number : 68 Question Id : 50521225324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 50521225325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In human beings _ (A)__is an exocrine as well as endocrine gland and produces __(B)__ hormaone, deficiency of which
causes
_ (C)_ disease. (A), (B) and (C) are
Options :
1. Thyroid gland, Thyroxine, Dwarfism

, Pancreas, Insulin, Diabetes mellitus
3 Ovary, Oestrogen, Menopause

4. Ovary, Progesterone, Menopause

Question Number : 69 Question Id : 50521225325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 50521225326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following places is likely to have the least atmospheric pressure?
Options :
1. Mumbai

7 Nagpur
3 Jaipur

4. Manali

Question Number : 70 Question Id : 50521225326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 50521225327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct option.
Assertion (A) : Tightening of membranes of a tabla produces a sound
of higher pitch
Reason (R) : Tightening of membranes changes the frequency of
vibrational motion of tabla
Options :
1 Both A and R are correct and R is correct explanation of A

5 Both A and R are correct but R is not correct explanation of A

3. Alis correct but R is not correct

4. Both A and R are incorrect

Question Number : 71 Question Id : 50521225327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 50521225328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Two uncharged objects P and O are rubbed against each other. Which of the following statements is true?
Options :
1. P and Q acquire equal and similar charge

5 P and Q acquire equal and opposite charge
3 Pand Q acquire unequal and similar charge

4 P and Q acquire unequal and opposite charge

Question Number : 72 Question Id : 50521225328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 50521225329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following materials is best suited to make a fuse wire?

Material Melting Point Resistivity
X High Low
Y High High
Z Low High
W Low Low
Options :
1. X
2, %
3. &
4. W

Question Number : 73 Question Id : 50521225329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. X
2.°%
3. Z
4. W

Question Number : 74 Question Id : 50521225330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sameer goes to an exhibition. He enters a Mirror House and sees a variety of mirrors. The following are the
characteristics of his image formed in various mirrors.

Mirror Characteristics
A erect, same size
B erect, diminished
C inverted, diminished
D inverted, magnified

Which of the following conclusions can be drawn by Sameer about the mirrors?
Options :



1 A- Plane mirror, B - Convex mirror, C— Concave mirror, D- Concave Mirror.

A and B — Plane mirror
> Cand D - Concave mirror

3 A- Plane mirror, B - Concave mirror, C — Convex mirror, D- Concave Mirror.

A and B — Convex mirror
4. Cand D - Concave mirror

Question Number : 74 Question Id : 50521225330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521225331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It is observed that when current is passed through an electric bulb, its filament gets heated up but the wire carrying
current does not. Which of the following could be the reason for this?
Options :

1 The wire has higher resistance than the filament

> The wire has lesser resistance than the filament
3. The filament has a fluorescent material but the wire does not

4 The wire has a higher melting point than filament.



Question Number : 75 Question Id : 50521225331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 50521225332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Speeds of four objects are :
A- 800 m/s
B- 8 km/s
C- 8 km/min
D- 8000 km/hour
Which of the following represents correct order of speeds?

Options :

1. C<D<A<B
7 B<D<A<C
3 A<B<C<D
4 C<A<D<B

Question Number : 76 Question Id : 50521225332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. C<D<A<B
>, B<D<A<C
3 A<B<C<D
4. C<A<D<B

Question Number : 77 Question Id : 50521225333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the type of blood cells on the basis of the information given below:

A- contains pigment of iron

B- multiply rapidly when foreign body enters

C- forms clots to prevent blood loss
Options :

A- WBC (White Blood Cells)

B- RBC (Red Blood Cells)
1. C- Platelets

A- RBC (Red Blood Cells)
B- Platelets
5 G WBC (White Blood Cells)

A- RBC (Red Blood Cells)
B- WBC (White Blood Cells)
3. C- Platelets

A- Platelets
B- WBC (White Blood Cells)
4 & RBC (Red Blood Cells)

Question Number : 77 Question Id : 50521225333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521225334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sumit takes out water in a beaker from a bucket for an experiment. He puts the thermometer in the water in beaker

and notes the reading as 35 ° C. Which of the following conclusions drawn by him are correct?
2. The temperature of water in beaker and bucket are almost same.
B. The heat in water in beaker and bucket are same
c. The temperature of water in beaker is less than the temperature of water in bucket
D. The heat in water in bucket is more than the heat in water in beaker
Options :
1. AandB

> BandC
3 AandD

4 CandD

Question Number : 78 Question Id : 50521225334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 50521225335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

LPG is stored as a liquid in a cylinder.

A: It changes into gas as it comes out of cylinder
B: It is burnt to produce heat

Which of the following statements is correct?

Options :
1. Ais Physical change and B is Chemical change

, A is Chemical change and B is Physical change



3 Both A and B are Physical changes

4 Both A and B are Chemical changes

Question Number : 79 Question Id : 50521225335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521225336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Samples A, B, C and D are tested for their nature using turmeric and Phenolphthalein and following observations are
recorded.
A- turns reddish brown on adding turmeric
B- turns pink on adding Phenolphthalein
C- turns yellow on adding turmeric
D- remains colourless on adding Phenolphthalein
What can be concluded about the nature of A, B, Cand D?
Options :
1. A, Bare acids and C, D are bases

, A Care acids and B, D are bases
3 A, Dare acids and B, C are bases

4 A, Barebases and C, D are acids

Question Number : 80 Question Id : 50521225336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521225337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Historical validity in science curriculum refers to

Options :

| engagement of learners in methods of science that lead to generation of scientific knowledge
5 inclusion of how concepts of science evolve over time

3 adaptation of content as per the cognitive level of learners

4. inclusion of content related to child’s local environment

Question Number : 81 Question Id : 50521225337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521225338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A teacher could develop students’ ‘hypothesizing” process skill by
Options :

,listening to accounts of students’ observations

5 taking students’ questions seriously and answering them
3 helping students to clarify their questions

4 encouraging students to check the possible explanations against evidence.

Question Number : 82 Question Id : 50521225338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521225339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A group of students was asked by their teacher to observe a small organism in its natural habitat and share their
guestions about the organism with other group members. This could be helpful to

promote a sense of competitiveness among students

select the students who know all the answers

help students realise that they are not the only ones who do not know
D. refine their expression by explaining guestions to others

Options :

1. AandB

N e

o AandD

3. CandD

4 BandC

Question Number : 83 Question Id : 50521225339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 50521225340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following question was given by a teacher during a class test.

The speed of a moving object means
a) how far it goes
b) how much force it has
c) how long it goes on moving
d) how far it goes in a fixed time-interval

Which of the following cognitive domain is assessed in the above guestion?

Options :

1 Application

5 Understanding
3 Synthesis

4 Analysis

Question Number : 84 Question Id : 50521225340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521225341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following must be considered by a teacher while planning science activities for a group?

A) They must involve use of ‘everyday’ materials and equipment.

B) They could be planned and carried out by students in a variety of ways.
C) They should not involve a great deal of discussion among students.

D) Students should be provided with step-by-step instructions.

Options :
1. AandD

5 AandC
3. AandB

4 CandD

Question Number : 85 Question Id : 50521225341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 50521225342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Gender responsive Pedagogy in science could entail which of the following?
A) Giving more opportunity to girls.
B) Using gender sensitive resources in class.
C) Discussing stereotypes about science.
D) Arranging remedial classes for girls and boys separately
Options :
1. BandC

o AandD

3. A

Question Number : 86 Question Id : 50521225342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 50521225343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.

Assertion (A): The best remedy to address students’ alternative
conceptions is by making them repeatedly practice
difficult problems
Reason (R) : Students construct intuitive understandings of world
based on ‘everyday’ experiences.
Options :
1. Both A and R are true and R is its correct explanation

2 Both A and R are true but R is NOT its correct explanation

3. Alistrue but R is false

4 Alsfalse but Ris true



Question Number : 87 Question Id : 50521225343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521225344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students of class VIl of a school were grouped for a project on soil. Each group was asked to submit a report on soil
sample collected, observation of place of soil collection and its flora —fauna. This project work :

Options :

1 includes only theoretical aspects

> reduces teacher’s burden
3. ensures authentic assessment of students
4 helps in scoring marks

Question Number : 88 Question Id : 50521225344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521225345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is CORRECT with respect to Science?
Options :
1 Scientific explanations employ supernatural forces or agents.

, Scientific explanations are empirically grounded, logical and straight forward.
3 Scientific explanations do not necessarily require logic or evidence.

4 Science is the best way of knowing about every aspect of our life.

Question Number : 89 Question Id : 50521225345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 90 Question Id : 50521225346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following steps would precede the rest in an inquiry-based class, in which the idea of adaptation in
animals is to be introduced to students of class VII?

Options :

1. Providing the students a clear definition of the term ‘adaptation’.

7 Exposing the students to examples of a number of animals with varied adaptive features.
3 Explaining the function of adaptive features of a particular animal.

4 Elucidating the relationship between physical characteristics of animals and their habitat.

Question Number : 90 Question Id : 50521225346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 505212813
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5052121469
Question Shuffling Allowed : Yes

Question Id : 50521225347 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension



Read the passage given below and answer the questions/complete
the statements by choosing the best options from the ones that
follow.

L. Artificial Intelligence (AI), sometimes called machine
intelligence, is intelligence demonstrated by machines, in
contrast to the natural intelligence of humans and other
animals. In computer science AT research is defined as the
study of ‘intelligent agents’ — any device that perceives its
environment and takes action that maximizes its chance of
successfully achieving its goals.

(B

Colloquially, the term ‘artificial intelligence’ is applied when
a machine mimics ‘cognitive’ functions that humans
associate with other human minds, such as ‘learning’ and
‘problem solving’.

3. The scope of AI is disputed: as machines become
increasingly capable, tasks considered as requiring
intelligence are often removed from the definition, a
phenomenon known as the Al effect. leading to the quip. “Al
is whatever hasn’t been done yet™.

4. Artificial intelligence was founded as an academic discipline
in 1956, and in the years since has experienced several waves

of optimism, followed by disappointment and the loss of
funding (known as an AI winter) followed by new
approaches, success and renewed funding. For most of the
history, AT research has been divided into subfields that
often fail to communicate with each other. These sub-fields
are often based on technical considerations (e.g. robotics or
machine learning), the use of particular tools e.g. logic or
deep philosophical differences.

Sub-fields have often been based on social factors.

5. The traditional problems or goals of AI research include
reasoning, knowledge representation, planning, learning,
perception and ability to move and manipulate objects.
General intelligence is among the field’s long term goals. The
Al field draws upon computer science. mathematics.
psychology, linguistics, philosophy and many others.

Sub questions

Question Number : 91 Question Id : 50521225348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the AT winter?

Loss of funding for AI projects
Non — functioning AT systems
Absence of research labs
Manipulations of AT goals

L d =

s

Options :
1.1
2.2
3.3
4.4



Question Number : 92 Question Id : 50521225349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following statements:

a)  Learning and problem solving by machines is a
collogquial way of understanding artificial
intelligence.

b) Artificial Intelligence means acquiring knowledge
through books.

1. (a) is correct and (b) is incorrect.
2. (b) is correct and (a) is incorrect.
3. Both (a) and (b) are correct.

4. Both (a) and (b) are incorrect.
Options :

1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521225350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Artificial intelligence can also be categorised as a/an:

a) intelligence agency
b) branch of computer science
¢) academic discipline

Only (a)

Only (b)

Only (¢)

Both (a) and (c)
Options :

1.1

2.2

3.3

4.4

W

o

Question Number : 94 Question Id : 50521225351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following statements

a) Al subfields are most effective as they have been
based on technical considerations.

b) Logic plays no role in the subdivisions,

c) Social factors play a negligible role in these
subdivisions.

Only (a) is correct and (b) and (¢) are incorrect.
Only (b) is correct and (a) and (¢) are incorrect.
Only (c) is correct and (a) and (b) are incorrect.
Both (a) and (c) are incorrect.

L b

B

Options :
1.1
2.2



3.3
4.4

Question Number : 95 Question Id : 50521225352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is responsible for the observation
that “Artificial intelligence is anything that has not been
done yet”?

Al winter
Technical considerations
Al effect
4. Division into subfields
Options :
1.1
2.2
3.3
4.4

L hd =

Question Number : 96 Question Id : 50521225353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following means the same as ‘robotic’?

cultivated
automatic
deliberate
. intentional
Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 97 Question Id : 50521225354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following does not mean the same as ‘quip’?

1. banter
2. jest
3. praise
pun

i

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521225355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word “mimic’ (para 2) is used as a/an

verb
adverb
noun
adjective

e

P



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521225356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word “colloguially’ in para 2 is used as a/an

verb
adverb
noun
adjective

L e

s

Options :
1.1
2.2
3.3
4.4

Question Id : 50521225347 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension



Read the passage given below and answer the questions/complete
the statements by choosing the best options from the ones that
follow.

L. Artificial Intelligence (AI), sometimes called machine
intelligence, is intelligence demonstrated by machines, in
contrast to the natural intelligence of humans and other
animals. In computer science AT research is defined as the
study of ‘intelligent agents’ — any device that perceives its
environment and takes action that maximizes its chance of
successfully achieving its goals.

(B

Colloquially, the term ‘artificial intelligence’ is applied when
a machine mimics ‘cognitive’ functions that humans
associate with other human minds, such as ‘learning’ and
‘problem solving’.

3. The scope of AI is disputed: as machines become
increasingly capable, tasks considered as requiring
intelligence are often removed from the definition, a
phenomenon known as the Al effect. leading to the quip. “Al
is whatever hasn’t been done yet™.

4. Artificial intelligence was founded as an academic discipline
in 1956, and in the years since has experienced several waves

of optimism, followed by disappointment and the loss of
funding (known as an AI winter) followed by new
approaches, success and renewed funding. For most of the
history, AT research has been divided into subfields that
often fail to communicate with each other. These sub-fields
are often based on technical considerations (e.g. robotics or
machine learning), the use of particular tools e.g. logic or
deep philosophical differences.

Sub-fields have often been based on social factors.

5. The traditional problems or goals of AI research include
reasoning, knowledge representation, planning, learning,
perception and ability to move and manipulate objects.
General intelligence is among the field’s long term goals. The
Al field draws upon computer science. mathematics.
psychology, linguistics, philosophy and many others.

Sub questions

Question Number : 91 Question Id : 50521225348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the AT winter?

Loss of funding for AI projects
Non — functioning AT systems
Absence of research labs
Manipulations of AT goals

L d =

s

Options :
1.1
2.2
3.3
4.4



Question Number : 92 Question Id : 50521225349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following statements:

a)  Learning and problem solving by machines is a
collogquial way of understanding artificial
intelligence.

b) Artificial Intelligence means acquiring knowledge
through books.

1. (a) is correct and (b) is incorrect.
2. (b) is correct and (a) is incorrect.
3. Both (a) and (b) are correct.

4. Both (a) and (b) are incorrect.
Options :

1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521225350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Artificial intelligence can also be categorised as a/an:

a) intelligence agency
b) branch of computer science
¢) academic discipline

Only (a)

Only (b)

Only (¢)

Both (a) and (c)
Options :

1.1

2.2

3.3

4.4

W

o

Question Number : 94 Question Id : 50521225351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following statements

a) Al subfields are most effective as they have been
based on technical considerations.

b) Logic plays no role in the subdivisions,

c) Social factors play a negligible role in these
subdivisions.

Only (a) is correct and (b) and (¢) are incorrect.
Only (b) is correct and (a) and (¢) are incorrect.
Only (c) is correct and (a) and (b) are incorrect.
Both (a) and (c) are incorrect.

L b

B

Options :
1.1
2.2



3.3
4.4

Question Number : 95 Question Id : 50521225352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is responsible for the observation
that “Artificial intelligence is anything that has not been
done yet”?

Al winter
Technical considerations
Al effect
4. Division into subfields
Options :
1.1
2.2
3.3
4.4

L hd =

Question Number : 96 Question Id : 50521225353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following means the same as ‘robotic’?

cultivated
automatic
deliberate
. intentional
Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 97 Question Id : 50521225354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following does not mean the same as ‘quip’?

1. banter
2. jest
3. praise
pun

i

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521225355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word “mimic’ (para 2) is used as a/an

verb
adverb
noun
adjective

e

P



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521225356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word “colloquially’ in para 2 is used as a/an

verb
adverb
noun
adjective

W =

b

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121470
Question Shuffling Allowed : Yes

Question Id : 50521225357 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the following stanza and answer the questions/complete the
statements by choosing the best options from the ones that follow:

Strange fits of passion have I
known

And I will dare to tell,

But in the lover’s ear alone.
‘What once to me befell

When she I loved looked every day
Fresh as a rose in June

I to her cottage beat my way
Beneath an evening moon.
Upon the moon I fixed my eye,
All over the wide lea,

With quickening pace

My horse drew nigh.

Those path so dear to me.

Sub questions

Question Number : 100 Question Id : 50521225358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Strange fits of passion” means

strange fantasies

strange fears that plague the mind
strange anecdotes

strange dreams

L bd -

B

Options :



1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521225359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘evening moon’ here symbolises:

night time
romanticism
fear of death
bright future
Options :

1.1

2.2

3.3

4.4

L e

£

Question Number : 102 Question Id : 50521225360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Lea’ (line 11) means

waste land
open grass land
fertile land
desert area
Options :

1.1

2.2

3.3

4.4

L e

£

Question Number : 103 Question Id : 50521225361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which figure of speech is used by the poet in the line
‘Fresh as a rose in June’?

Metaphor
Hyperbole
Simile
Onomatopoeia

W

b

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521225362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



*With quickening pace’
The underlined word is a/an

1
2. Verb
3. Adjective
4. Adverb
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521225363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the structure of the poem?

sonnet
Blank verse
Free verse
Lyric

W

o

Options :
1.1
2.2
3.3
4.4

Question Id : 50521225357 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the following stanza and answer the questions/complete the
statements by choosing the best options from the ones that follow:

Strange fits of passion have I
known

And I will dare to tell,

But in the lover’s ear alone.
What once to me befell

When she I loved looked every day
Fresh as a rose in June

I to her cottage beat my way
Beneath an evening moon.
Upon the moon I fixed my eye,
All over the wide lea,

With quickening pace

My horse drew nigh.

Those path so dear to me.

Sub questions

Question Number : 100 Question Id : 50521225358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘Strange fits of passion” means

strange fantasies

strange fears that plague the mind
strange anecdotes

strange dreams

Wb =

B

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521225359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘evening moon’ here symbolises:

night time
romanticism
fear of death
bright future
Options :

1.1

2.2

3.3

4.4

W

b

Question Number : 102 Question Id : 50521225360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Lea’ (line 11) means

waste land
open grass land
fertile land

. desert area
Options :

1.1

2.2

3.3

4.4

W

I

Question Number : 103 Question Id : 50521225361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which figure of speech is used by the poet in the line
‘Fresh as a rose in June’?

Metaphor
Hyperbole
Simile
Onomatopoeia

w1

B

Options :
1.1
2.2
3.3
4.4



Question Number : 104 Question Id : 50521225362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“With quickening pace’

The underlined word is a/an

1. Noun
2. Verb
3. Adjective
4. Adverb
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521225363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the structure of the poem?

Sonnet
Blank verse
Free verse
Lyric

L B

B

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121471
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521225364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is ‘realia’?

Using objects like toys, pictures and painting to brainstorm learners to a speaking activity.
Using reality shows for teaching-learning of language and specific language functions.
Any materials like texts and narratives and actions.

All the teaching aids advocated by educational agencies and schools.

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 50521225364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is ‘realia’?

Using objects like toys, pictures and painting to brainstorm learners to a speaking activity.
Using reality shows for teaching-learning of language and specific language functions.
Any materials like texts and narratives and actions.

All the teaching aids advocated by educational agencies and schools.

W

o



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521225365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Competency based language assessment aims at

enabling learners to master the language in terms of accuracy.

enabling learners to perform language in social and professional situations.
enabling learners to secure high scores in high stake examinations.
enabling learners to use language through memorization.

s pd b

b

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521225365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Competency based language assessment aims at

enabling learners to master the language in terms of accuracy.

enabling learners to perform language in social and professional situations.
enabling learners to secure high scores in high stake examinations.
enabling learners to use language through memorization.

W

b

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521225366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Which two of the following are the major purposes of school based assessment?

It promotes teacher’s and learner’s autonomy.

It gives opportunity for the school to plan on their own.

It makes the school aware the examination board’s power.
It reduces the quality of learning in school.

e o

aandd
b and ¢
candd
. aand b
Options :

1.1

2.2

3.3

4.4

W

Je

Question Number : 108 Question Id : 50521225366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Which two of the following are the major purposes of school based assessment?

It promotes teacher’s and learner’s autonomy.

It gives opportunity for the school to plan on their own.

It makes the school aware the examination board’s power.
It reduces the quality of learning in school.

B o o

aandd
band ¢
candd
. aand b
Options :

1.1

2.2

3.3

4.4

W

e

Question Number : 109 Question Id : 50521225367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In process approach to writing the learner

learns to write by doing so many times.
undergoes stages to complete a good write-up.
writes in one go to complete a write-up.
writes from his / her memory.

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521225367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In process approach to writing the learner

learns to write by doing so many times.
undergoes stages to complete a good write-up.
writes in one go to complete a write-up.
writes from his / her memory.

i

b

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521225368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A learner uses key words to construct schema of the discourse and infers the setting for a text while listening. Which
listening strategy does he adopt?

Top-down strategies.

Both top-down and bottom-up strategies.
Neither bottom-up nor top-down strategies
Bottom-up strategies

W

&

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521225368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A learner uses key words to construct schema of the discourse and infers the setting for a text while listening. Which
listening strategy does he adopt?

Top-down strategies.
Both top-down and bottom-up strategies.
Neither bottom-up nor top-down strategies

W

4. Bottom-up strategies
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521225369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Words which we have learnt to use in different contexts are known as

Active vocabulary
Collocations
Passive vocabulary
. Action words
Options :

1.1

2.2

3.3

4.4

W

e

Question Number : 111 Question Id : 50521225369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Words which we have learnt to use in different contexts are known as

Active vocabulary
Collocations
Passive vocabulary
. Action words
Options :

1.1

2.2

3.3

W

e



4.4

Question Number : 112 Question Id : 50521225370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a poetic device?

Simile
Image
Metaphor
Appreciation

L B

o

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521225370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a poetic device?

1. Simile
2. Image
3. Metaphor

4. Appreciation
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521225371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sumi Chang moves from Aizwal to Mysuru due to her father’s transfer of job. She learns the language of the place,
Kannada very well. What do vou describe this?

Language learning
Language acquisition
Language transfer
Language intervention

W

B

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521225371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sumi Chang moves from Aizwal to Mysuru due to her father’s transfer of job. She learns the language of the place,
Kannada very well. What do vou describe this?

Language learning
Language acquisition
Language transfer
Language intervention

w1

&



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521225372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of learning outcomes?

Learning outcomes need to align with the learning objectives.
Learning outcomes are much more than learning objectives.
Learning objectives are less than the learning ontcomes.
Learning outcomes has no relationship with objectives.

L D

&

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521225372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of learning outcomes?

Learning outcomes need to align with the learning objectives.
Learning outcomes are much more than learning objectives.
Learning objectives are less than the learning outcomes.
Learning outcomes has no relationship with objectives.

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521225373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT preferred as an ideal activity for language learning?

Writing for purposes in contextualized tasks

Drilling of grammatical form and patterns

Noticing the language item in texts and narratives

Reading with comprehension, not mere decoding of the text

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521225373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is NOT preferred as an ideal activity for language learning?

Writing for purposes in contextualized tasks

Drilling of grammatical form and patterns

Noticing the language item in texts and narratives

Reading with comprehension, not mere decoding of the text

L d =

B

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521225374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does ‘innateness’ refer to in language acquisition?

The natural ability of human to speak a language.

The ability of the learners to learn many languages.

The ability of the learners in school to code switch from in one language to another.
The ability of humans to think in a language.

L bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521225374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does “innateness’ refer to in language acquisition?

The natural ability of human to speak a language.

The ability of the learners to learn many languages.

The ability of the learners in school to code switch from in one language to another.
The ability of humans to think in a language.

L bd -

i

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521225375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Translanguaging is

Teaching-learning of many languages in one classroom.

Using the (many) languages of learners to teach-learn content and languages.
Making the learners to learn many languages to become multilingual.
Transferring children from one language to another through bilingunal teaching.

W

b

Options :
1.1
2.2
3.3
4.4



Question Number : 117 Question Id : 50521225375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Translanguaging is

Teaching-learning of many languages in one classroom.

Using the (many) languages of learners to teach-learn content and languages.
Making the learners to learn many languages to become multilingual.
Transferring children from one language to another through bilingual teaching.

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521225376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the place accorded to Hindi in the Indian Constitution?

Language of judiciary
National language
Official language
Language of education

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521225376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the place accorded to Hindi in the Indian Constitution?

Language of judiciary
National language
Official language
Language of education

W

b

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521225377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Raghav reads a land document to find out the location of the land and its survey number. What is this reading known as?

Scanning

Skimming

Reading for purpose
Reading for information

L B

B

Options :
1.1
2.2
3.3



4.4

Question Number : 119 Question Id : 50521225377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Raghav reads a land document to find out the location of the land and its survey number. What is this reading known as?

Scanning

Skimming

Reading for purpose
Reading for information

L D

o

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521225378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a recommendation of the National Education Policy (NEP) 2020?

1. Introduction of English language as a medium from class I.
2. Introduction of study of a foreign language at the secondary stage.
3. Introduction of study of a classical language at the secondary stage.

et

Mother tongue / Home language / local language as medium during the foundational vears.
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521225378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a recommendation of the National Education Policy (INEP) 2020?

1. Introduction of English language as a medium from class I.
2. Introduction of study of a foreign language at the secondary stage.
3. Introduction of study of a classical language at the secondary stage.
4. Mother tongue / Home language / local language as medium during the foundational years.
Options :
1.1
2.2
3.3
4.4
Language 11
Section Id : 505212814
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 5052121472
Question Shuffling Allowed : Yes

Question Id : 50521225379 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 50521225380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2
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4.4
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Question Number : 122 Question Id : 50521225381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521225382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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4.4
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Question Number : 124 Question Id : 50521225383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521225384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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3.3
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Question Number : 126 Question Id : 50521225385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 127 Question Id : 50521225386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 128 Question Id : 50521225387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 50521225379 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 50521225380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 122 Question Id : 50521225381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 123 Question Id : 50521225382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 124 Question Id : 50521225383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 125 Question Id : 50521225384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAT=IEA T 3 A0 Fefeiad o & i9-97 3o 7aw

Eu?fﬁ%ﬂ

1. &%RaT
2. dm

3. @A
L=

4. =TI
Options :
1.1
2.2
3.3
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Question Number : 126 Question Id : 50521225385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521225386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 128 Question Id : 50521225387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 5052121473
Question Shuffling Allowed : Yes

Question Id : 50521225388 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 50521225389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
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Question Number : 130 Question Id : 50521225390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 50521225391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

—_—

Question Number : 132 Question Id : 50521225392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 50521225393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 134 Question Id : 50521225394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
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Question Number : 135 Question Id : 50521225395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :
1.1
2.2
3.3
4.4

Question Id : 50521225388 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 50521225389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 130 Question Id : 50521225390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 50521225391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 132 Question Id : 50521225392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 50521225393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 134 Question Id : 50521225394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 50521225395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 5052121474
Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521225396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Toramrereht fone & wrgTfirerer & = AP 22
|. SET 75 9T B, AT ¥ AT WIS S
2. HITHTST 3T T ST STR HTe9 T W57 o &9 5 {57707 23ferms
3. WA/ 3T TS 3 FRTEOT ST A TR S SR ST T § g S
4. TRt ot Fererr arferm Fer s £ T, T, @Hﬁﬁaﬁfﬁﬁ%ﬁﬁw

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 50521225396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 50521225397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 50521225397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 50521225398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 50521225398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 139 Question Id : 50521225399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 139 Question Id : 50521225399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4. (B) 210 1= TATET 2 371 (A) STe8 279 TararT 2
Options :
1.1
2.2

3.3
4.4

[a—

(]

Question Number : 140 Question Id : 50521225400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 9163 7 =GR IR AT § T A 2, 3% A
|. IUTE T8 WRT

3. Tofezg sree wuar

4. T vTes

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 140 Question Id : 50521225400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST 9163 T =g TR JT=H 5 T R £, I 4
1. IeUTE 3768 HURT

3. Taftsr= e HueT

4. TFar YR

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 141 Question Id : 50521225401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T AT <A1 T T TR A § ST ¥ T i Sfa % are s e 3 T e 87
|. AT T STOTeAR T

. FITH | 3Td A AR

3. TV H ST T AT

]

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521225401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

S TTATITrE <1 T e TSR ST § ST ¥ e ot S o e e S 3 T e 87
|. AT T TR T

. TR H 1L FT AT

3. Fe § TR i ittt

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 142 Question Id : 50521225402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS ASATUSHT HET 2713 3 foamtiat =t fieteriad oies e &1 dt 2| 79 7| Topm &7 oig= #2m?
TR o FE = AT 5 == i, T fam=w fag forat #ii e woan daw w0 o o v qor fawa A
o T 0 o o0 U 370 1@ o1 NI oar | v 2. freers o Rt o o ofemss o
|. U e
3. AR =@
4, JATATHR @
Options : )
1.1
2.2

3.3
4.4

Question Number : 142 Question Id : 50521225402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



U ST AT 213 % faentitat =it frferfas ore e = 3t 21 39 form wepm =1 og w1
TR % e = AT 5 == i, T fam=w fag forat #ik veh = daw w0 fawa & v qur fawa 2
o T S o o0, U 370 o1 o1 Wy oar | faw 2. faremera o fenanteiat o forw efmermss fomn
|. ORI S
3. SHHUCE wEe
4, FATATHR @
Options : )
1.1
2.2

3.3
4.4

Question Number : 143 Question Id : 50521225403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e Tana <fife, 2020 T wTSTST % oA Ay S R ' F w2
1. T 5531 % e T

. SATENTH o SRS I 3 S T 9T
3. @AfateT fawey
4. e WRET AT

Options :

1.1

2.2

3.3
4.4

| ]

Question Number : 143 Question Id : 50521225403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tefe fover R, 2020 S T % ST i v R = S w2
. BT 9 % areTa W
. STTERTH 3 ST I91 5 I shT WTET
3. T fAwey
4. mgﬁ-osﬂmum
Options :
1.1
2.2

3.3
4.4

—

(]

Question Number : 144 Question Id : 50521225404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T UTS HETER U Ued! 2 98 e o veet wet ke e W e fafine st e e 2 W e F
TS o AT FE

. Tt (weerd 3fe 9 ua)

. THT (I US)

3. 7= ¥ o uae

. AT 3 fotm ua

[am—

| ]

o -9

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521225404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T IS HETER U Ued! 2| 78 e o veet wet ke B W e fafine st e e # m e F
TS AT FE

. Tt (weer 3fe © ua)

. TR (I T3)

3. S F fom U

4. F=AT o0 U

Options :
1.1
2.2
3.3
4.4

[a—y

| ]

Question Number : 145 Question Id : 50521225405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T ST FATT 213 F Rt At v e w3 o et #1 7w e S o et ok e fage
i T T o T et 2 3 i o6
. T T AW e (FeHe)
. e = T foger ()
3. FEET W TE U3 AU S FAT
4. FEHT ! TIEAT FAT
Options :
1.1
2.2

3.3
4.4

[am—

| ]

Question Number : 145 Question Id : 50521225405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T ST FTT TS F AT FT U LR U5 o [0 FEA 2] AR FEAT H ATE TIAAT SR 7 Tt
o T S o T et 2| 9 AT b w

1. FET F AR o (FeEEe)

2. FHET B T fereT (F)

3. HEETE 7E TS FHUT 9T AT

4. SHETAT ! AT AT
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521225406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT faerTe & wed § ST i S v o T awd 22

. STSATYF o1 (STEUTSTIS oh1 F0E & o1 TERaTi=a o0 o [o70 FTHHT 71T STeuTsTes & U e Sere &7 99
&l

3. e H AT T AT Wiawe F fom i Rreor s gt i w= fw wm

4. e | Tarequr 27fenTs % T eafafies uas e ot S

Options :
1.1
2.2
3.3
4.4

| O T

Question Number : 146 Question Id : 50521225406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I farehTe o wed | A ET i e wee 6T e 22
1. TST TRTEAOTTA i FH=a A a1 et S |
2. TSI HT TSR i 99T 5 A% Rty v % v arnht otk e % ureaf gea Fr g
ol
3. el | TART AT AR Wiawha 3 forw, fafve feeor s gt g dmm
4. Fear o fereor stferms 3 fou e1fafie v St = T

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521225407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ATEST Rl § SIfenTs Tiawe 3 e § o497 TE 20
|, ITeTe S29eT & Het W 2
2. ATeRT TRTAT W o BT S TE B
3, Torenfelat st ot ave 7 fawm et @ o1forer o e 5 9eE w B
4. Terefelat wr wreT T ST O SRR UTH A | §e8 4 B

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521225407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR TRgTe T ST TTEe & AN § a7 T 20
1. 27T S2va © 9 @i =
2. AT 2T H T BT S AR 2
3, Toremferan s et ave 7 faws weft & e1fier w9 92T w5 B
4. Terenfelat wt v i S W SEE TH S | 5eE 9 B

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 50521225408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T HTE T U TR A0 et =61 = v 912 & form o i Sefifasm s difes e w oo
FEAT B TE T IF T W (UfUETS) AT fowa 3 forn st B v iatate w5 wmr wma
|. TR FE
. TR EE
3. difear = sregee
4, ST
Options :
L1
2.2

3.3
4.4

(]

Question Number : 148 Question Id : 50521225408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T W T U TSI 270 (T 67 ST e HTE o [o70 A0 o St 3 97 | 3@ & o
FEAT 2| 918 F 3 T W (UIEre) = A fres % o e B oty s
|. TEAFE
. FEEE
. wifear 1 svemmw

(o]

Ha 2



Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521225409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U S W FT AT 87
. ST FN TTeaT i TEhle o St Uik
. TS forehrere o et 1 TE A B e o i e
3. TE T=ANOT o T SaT TR 98 96 ST 5 a1 § 168 Y 54 1
4. STERT ST ITT FLUT @ 3 GTHT Hl TEHTS FAT
Options :
1.1
2.2

3.3
4.4

—

]

Question Number : 149 Question Id : 50521225409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T3 I 4T e 29
3. HEI TSN F 0 SeEa R 9% 9HE a9 5 A § e F9 g B
4. STEET ST T FLUT @ 3 ITHIT hl TEHTS FAT
Options :
1.1
2.2

3.3
4.4

—

]

Question Number : 150 Question Id : 50521225410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T ST SATHT 1 § Heeriad miarare Famt 2-
T S W DI F S 3 31 @S o S E A o g A & ferentat s w6 feam s 2 v et
TR I A AT 2 7R S e e ol v e w6 w8 5w it w amm aw
! TR Ao
2. I EAT AEeE

2
w3
3. ST STARE A
4. TTaeRET AT ST
Options :
1.1
2.2
3.3
4.4




Question Number : 150 Question Id : 50521225410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TE ST 70T FeT o et Tt FaET 2
wmm%zﬁ%%rm%ﬁm%m%magﬂméﬁmﬁﬁ%aﬁﬁﬁmmélmﬁmﬁ
TE T AT A & S e A G TS T W A 2 T S = Fww

3. ST AR JAE

4. Ao AT I
Options :
1.1
2.2

3.3
4.4

[a—y



